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def geo mean(iterable):
a = np.array(iterable)
a = a[~np.isnan(a)]
a = np.log(a)
return np.exp(a.sum()/len(a))

df = df.groupby(["AlT","Z Al"]).agg(geo_mean)
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medi_2016 = pd.read_csv('../../lawdata/medical/NHIS_2016 Fixed.csv')
medi_2017 = pd.read_csv('../../lawdata/medical/NHIS_2017 Fixed.csv')
medi 2018 = pd.read csv('../../lawdata/medical/NHIS 2018 Fixed.csv')
medi 2016 = medi 2016[medi 2016['&F D ="]=="1"]
medi 2017 = medi 2017[medi 2017['E¥ D ="]=="1"]
medi 2018 = medi 2018[medi 2018['EE D ="]=="1"]
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ts_03 original <- ts(lag(analysis_total week$03,8), start = c(2016, 1), freq = 52)#omnibus o

ts_03 <- ts(lag(analysis_total week$03,38), start = c(2016, 1), freq = 52)#omnibus o

ts_NO2 <- ts(lag(analysis_total week$NO2,0), start = c(2016, 1), freq = 52)#omnibus x

ts_CO <- ts(lag(analysis_total week$C0,0), start = c(2016, 1), freq = 52)#omnibus o

ts_S02 <- ts(lag(analysis_total week$S02,0), start = c(2016, 1), freq = 52)#omnibus x

ts_PM1@ <- ts(lag(analysis_total week$PM10,0), start = c(2016, 1), freq = 52)#omnibus x

ts_PM25 <- ts(lag(analysis_total week$PM25,0), start = c(2016, 1), freq = 52)#omnibus x

ts_rain <- ts(lag(analysis total week$ 22r4-ZF(mm)*,25), start = c(20816, 1), freq = 52)#omnibus o
ts_temperature <- ts(lag(analysis_total week$ = =J|=(°C) ,0), start = c(20816, 1), freq = 52)#omnibus x
ts_air <- ts(lag(analysis total week$ E = S A2/ (hPa)™,1), start = c(20816, 1), freq = 52)#omnibus o
ts_wind <- ts(lag(analysis_total week$ ¥+ Z=(m/s) ,36), start = c(2016, 1), freq = 52)#omnibus o
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## Coefficients: #F ASSESSMENT OF THE LIMEAR MODEL ASSUMPTIONS
== Fetimate Std. Error t value Pr{}lt |:| #H USIMNG THE f.SLDEI!AII_ TEST ON 4 DEGREES-OF-FREEDOM:
#% (Intercept) -20.817457 7.0974557 -2.51@ @.9134@ * ﬁ tevel of Significance = 8.05
#H ts 03 39.478557 b.788323 5.885 3.69e-88 *¥¥ #2 Call:
# s _(0 8.6815008 l.042304 2.654 @.51428 #H gvlma(x = fit)
## 1s_ 502 -64.997544 186.793468 -9.689 @.54392 #H
#h‘iF‘H'l-ﬂ 8.818649 g.086345 2.939 9.98395 == ad Value p-value Decision
## ts PM25 -@.813119 B.017884 -1.825 @.38762 i Olobal Stat 8.928224 @.9285 Assumpt%nns acceptable.

, i Skewness 8.889454 @.9225 Assumptlions acceptable.
#H t5=-E|1F 8.828536 B8.8858135 2.335 B.91352 = i Kurtosis B.798758 @.3715 Assumptions acceptable.
5 --- it Link Function 8.182876 @.7484 Assumptions acceptable.
H# S:'Lgni-F. codes: @ "¥FFEE" @ A1 "FF" .81 "¥" o@.85 "." 8.1 " "1 p# Heteroscedasticity 8.817144 8.8958 Assumptions acceptable.
#F
## Residual standard error: ©.3482 on 128 degrees of freedom \"F
## (3@ observations deleted due to missingness)
## Multiple R-squared: ©.7225, Adjusted R-squared: @.7086 # 1503  ts (0 15502 ts PMl@ ts PM2S  ts air
#% F-statistic: 52.87 on 6 and 128 DF, p-value: < 2.2e-16 # 3.554605 8.167667 2.972158 5.248235 7.953823 3.883587
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